Total No. of Questions : 6] SEAT No. :

P2237

[Total No. of Pages : 4

[5805]-402
M.Com. (Part - Il) (Semester - V)

422A : INDUSTRIAL ECONOMIC ENVIRONMENT

(2019 Pattern) (CBCYS)

Time: 3Hourg| [Max. Marks: 60
| nstructions to the candidates:

Q1)

1) Question No. 1 and Question No. 6 are compulsory.
2) Solve any three questions from Question No. 2 to Question No. 5.
3) Figures to the right side indicate full marks.
Fill inthe blanks by selecting suitable choice (Any SiX) : [6]
1)  Monopoly isaindustry whichisbasedon.  structure.
a Competitive b)*" Use-based
c) Basedon natureof activities *d) None of the above
1)) isthe political factorwhich affects the economic environment.
a Government Tax;policy b) Research & Development
c) Availability of Technology d) ChangeinNational Income
i) In | ndustry has more Government intervention.
a Publie b) Small scale
C) .~Sugar d) Private
V) . . meanstheoveral economic conditionsthat influenceindividuals
oreommunity.
a).~ Economic Environment b) Economic Development
c) Economic Growth d) Financia Development
v) Government interferenceto the process of liberalization
a Decreases b) Increases
Cc) Remainsstable d) Remainsunstable
vi) There hasbeen adopted to bring about structural changein the
economy.
a Liberdization b) Privatization
c) Globalization d) Modernization
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vii) iIsamajor problem of Indias Travel and Tourism Industry.

a Lackof infrastructure b) Foreign currency
c) Education d) None of the above
viii) Is the first industry to be established in the organized sector
inIndia
a Cotton Industry b) Automobile Industry.
C) Sugar Industry d) Cement Industry
Q2) What ismeant by industry? Explain classification of industry. [14]

Q3) Explaincausesof industrial imbalance and suggest measuresto removeindustria
imbalance. [14]

Q4) Define Globalization. Explainimpact of globalization on Indian Industry.[14]
Q5) Explain progress and problems of Tourism industry in India [14]
Q6) Write short netes (Any Two) : [12]
a Socia and.cultural factors affecting economic environment.
b).. Problemsof multinational corporations.

c) Brief outline of Industrial policy of 1948.
d)" Problemsof IT Industry inindia.
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